BibleWise

Word Search Puzzle about Abraham

Match the correct answer on the left with the statement on the nght.
Search for the words on the left in the puzzle grid. Words run up, down, forward,
backward and diagonally upward.

ANSWER | STATEMENT

A. Abraham 1. Lot moved here after he left his Uncle. (Gen 13:12)

B. Egvpt 2 Abraham healed this King's wife of barrenness. (Gen. 20:17)

. Sarah 3. Hagar was this person’s handmaid. (Gen. 16:1)

D. Lot 4, Abraham gave Hagar and Ishmael bread and  (Gen.21:14)
E. Thicket 5. He was Abram's father. (Gen. 11:26)

F. Hagar 6. His name was changed from Abram. (Ger 17:5)

G. Terah 7. This 15 another name for burnt offering.

H. Ishmael B, A ram was caught in this. (Gen. 22:13)

I. Sodom 9. He is onc of Abram’s brothors, (Gen. 11:27)

J. Angel ____ 10. This word means “covenant” or “agreement.”

K. lzaac 11, lsaac's name means .

. Sacrifice ____12. Duning the famine Abram journeyed to this place. (Gen. 12:10)
M. Canaan 13, Abram’s home town 1% . (Gen. 11:31)

N. Ur ____14. He was born to Abraham and Sarah. (Gen. 21:3)

0. Sarm 15, Lot's wife turned into a pillar of , (Gen19:286)

P. Faith 16. Abram needed o follow God's command. (Heb. 11:8)

Q. Promise 17, She 15 the mother of Ishmael. (Gen 16:15)

R. Ram 18, An called to Hagar out of heaven. (Gen. 21:17)

5. Salt ____19. Here is where Abraham was to sacrifice his son. (Gen. 222)

T. Nahor ~ 20. Abram was to leave Ur and go into the land of ___. (Gen.11:31)
1. Abimelech 21, She cast out Hagar and Ishmael. (Gen. 21:9,10)

V. Melchizedek _____ 22, This person chose to live in Sodom. (Gen 13.12)

W. Morinh 23. This person 1s lsaac’s half-brother.

X. Water 24, Thas replaced [saac as a burnt offering. (Gen.22:13)

Y. One laughs 25, He was the King of Salem who blessed Abraham. (Gen. 14:18, 19
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